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Part A
Answer any ten questions.

Each question carries 1 mark.

1. What are user defined data types?

2. Which operator is used to send output data to the screen?

3. Whatis an Object ?

4. Explain the diagrammatic representation of memory allocation of objects in a class.
5.  Why we want to use constructors ?

6. What are parameterized constructors?
7. How the Copy Constructors are useful ?
8" What i$ destructor ?

9. Define cperator overloading.

10. What is the meaning of Inheritance ?
11. What is the use of this pointer in C++?

12. What are the operators used for dynamic memory allocation of pointers?
(10x1=10)
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Answer any six questions.

Each question carries § marks.

Describe the structure of C++ program.

Explain control structures in c++ with syntax.

Explain virtual functions with example.

Explain different ways of defining member function.

Explain with suitable example how static member functions are created and implemented.
Explain how multiple constructors can be used in a class.

Write a note on dynamic constructor.

Differentiate between unary and binary arithmetic operators. Give examples for each.

Describe virtual base class with an example.

(6x5=30)
Part C
Answer any two questions.
Each question carries 10 marks.
Explain the basic concepts of Object Oriented Programming languages.
Write a C++ program to sumthe series:1+(1+2)+ (1+2+3)+ ... +(1+2+3+

....... + N ) for a given integer N.

Explain hybrid inheritance. How can the repeated inheritance of member function to the
derived class in hybrid inheritance be avoided? Explain with example.

Narrate Pointers and strings and Pointers to functions with suitable examples.

(2x10=20)



